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1997 AP EXAM

A random sample of 415 potential \'olé“'u% ile%icwcd 3 weeks before the start of a
state-wide campaign for governor. 223 of the 415 said they favored the new candidate
over the incumbgnt. Beyvever, the new candidate made several unfortunate remarks one
-
17

week before
showed that 3

| . Subsequently, a new random sample of 630 potential voters
- fAvored the new candidate.

Do these data support the conclusion that there was a decrease in voter support for the
new candidate afier the unfortunate remarks were made? Give appropriate statistical
evidence to support your answer.
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WORKSHEET
(Sec 10.2)

Mark's cat “Sirius™ is a finicky eater. Mark is trying to determine which of two brands of canned
food Sirius prefers, Tab-a-Cat or Chow Lion. For two months, he flips a coin each day to decide
which of the two brands to feed Sirius and weighs how much Sirius eats in grams, Here are the
data:

! n X s
| Tab-a-Cat 31 852 | 345
| Chow Lion 30 82.1 4.62

P) M= mean amo vnt of Tab-a-Cot eaten by Sinus (gms)
My = méan amount of Chatd Lion eaten by Sivius (gms)
H) Hﬂ:/'{{:/uz_ o F{BV‘(;-/‘{;:CI
Ha: My7 M Ha: M, - M2% 0
A) ﬁdndﬂﬂﬁmp(cf Used ﬁlnphhj)ﬂ'fn'éaﬁm Miral (n230):
Eating chorees [ndeperoent

T) —)E'I-K; §52-52.1
- - " -
L = f1 .52 \FL‘(;+ Wz = .96
— t — sl 76
h| hl—

Fom Table T-value £.005
From Calewlafor, P-value 2 00L
5) A‘Fo( ':-.dl, -Htm 'S eviolence 1[‘0 r()gc,[r A[a (P:.MZJ anol.
tmolude Hhat, maversge, Sicius eads pore Tab-a-Gad
Wan Chgts Limn rhd:'ca'{[:hj he fvgﬁf_;- 12l -a -C'do('

2 On the back, construct and interpret a 98% confidence interval for the difference in mean
amount of food Sirius eats when he is offered Tab-a-Cat versus Chow Lion.
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